STAR

BEBAY -2 P 7L wS

MR — K K 93206
i X JMS 1020

- Ehan SEXOIRE, 07 EhmitieE X 7 TER (2 S,
RGO, FEH -y MREOHDBENHY FT .

“WEET  HEBOERAIZESBIHRATLSIESL,

HASHIHIAY —




#in O TS DN T

1. i ZHEXOBRIE, TR E %2 ZEiE <
7ZE0,

O 5 4

@m K

ST

@FB LT

ofd %

S A AR T TR L R F M FS K OVARIR R
DA—LT L — MIERRLTNET,

2. o=, iz, UFozazRL
TBYET,
= vanl MARAER TS
Sl 212 X0 B D
- - - T oA E TN TH
i TIES L7V D,

FEFR it DG IRIC SN T

Z OB ORHE A OBAGER (GHR)
X, BETHE 0% 9OFETT, R L, G
FERANTH > ThH ., FEEE IS DOV TS
REETHRSETCWEESHEALH Y £7,

FEAEES & OB TR RN 13 ERE O G4
RO TLETD, MRFERREE ThH - T
b, ARG O ZEEER B o I G I B
T Iz DN T THR ST & 7,




RELU No ~—35No
1. v —F Ry SRR (F@O 1) = ¢ s v v m v =m0 x v n s e e e e 1
1. Fo—B I RBER (FO2) =+ v v st e e 2
1. #"("—TR‘VIJR%% (FM3) = s v s s s a2 1w e s a e e e 3
1. Bo—By S RER (FMAE) v vosor e s e s 4
1. ;\J.'.‘,.__;ﬁ‘.y 4 2 EA&k (F@MB) == = = s mma e s e e e e 5
1. Fo—HBy S REFR (FOB) = s st s v e 6
1, Fo—Ry YRR (FOT) = = = = = =+ v v 002w 7
1. Xv—FBy SR (FOS8)  * = = = = = = ¢ ¢ v = e s n a0 ww s ]
1. v —RY S REE (FOO) =+ v vt n s s 9
1. Fv—RyHRBEFE (FO10) = = =« = ¢ v s & 2 2 =2 0 =2 = =2 =2« 10
i. #’(’_Tﬁ‘? ORBFBR (FOT 1) == r s s r s e e s n e s 11
2. JL—LBE% (F@T) »r s s s s s e e e 12
2. JL—LEE (FM2) = = = = v v m e wmw e e e 13
o L -—LBE (F@M3) =% s m s s s aee e e 14
2. JL—LBEE (F@MA) = = = n s xx s a e w e e e 15
3. Eﬁ%ﬁﬁg{% (FDT) ==+ = v n s o n ua xn s s e 16
3. iﬁ&ﬁgﬁ% (FM2)  r 2 s s mmaa e e e e 17
3. EfTEBEBEG (FMB) = == s v e r e 18
3 . EFESBRE (F@M4)  + 2 e s r e s e e e 19
3. ENEBRER (FFLg2) s s e e e e e e e e s 20
4. TV BR (F@T) v =+ v s = = s hw s x s s s s 921-99
4. TULBEER ( F@M2) v oros s e e a e s e e e e e e 23
4 . ch’yﬂa{% (FM3) == = v r s am e s x e n e e 24
4. U BERE 7]—7’-;/3 UF@MT) v s m i a e e a e e e 25
4. TVSUER FFLay (FM2) -+ - v s s e e 26
4. TOSVEE (FMA)  + v v v e e 27
5. {THEEERER (FMT) = = s s v v v v 2 v x 2 n 2 s s e 28
5 . IzEIEEE{E (FM2) = = ¢ s v v e e s s 29
5. EEENER (FM3) = m s rr e e e e e 30
5. (FEEERE (F@MA) v v n ot v e 31
5. FEEEBEE (F@MB) v v vsrene e e ae e 32
5. {iﬁﬂﬁﬁﬁ% ( .{.a) 6) ....................... 33
5. {Eﬁ%-ﬁgﬂ% ( %0) 7) ....................... 34
6 . HEEENF (F@O1) == = v vt s e e s w e 35
6 . MESZEE ( FM2)  * 2 mr s e a e 36



RHL No R—TNo
6. HFRSE% (FOB)  *r v m o r s e e 37
6. HEEBEE (FMA)  *+ v s s v m v s e 38
6 . HEEEER (FMB) = = =t ot s st a e e 39
6. HEREMNR (BDB6)  rommrm s 40
7 . B-H—BR (FMT) == s s s s s s e e e e e e 1
7 . BE-H S —BER (F@2) ¢ v s nxnn s m s e e e 42
7. BiE-HA—BE (FMB) v e s e e s e s e e e s 43
7 . B4E-H—BR (FDA)  » v n v = mr s s e e e e e 44
7 . B4E-H S—E (FMB) = = v v nm txw v xwn ek e o w s 45
7 . #®4E-H —E% (F@MB)  »r = v s v v o v nanna s n s 46
7 . B%E-H 1 —EE% (F@MT) === rr e nmr s e e 47
7. B HS—FR (FMB)  rorororor e mwxe s e s e e 48
7 . BE-hA—BE (FMO) = v orm e e e e e e 49
7 . BE-H 3 —B% (FMTO0) = r s v s e vt naat e 50
7 . #B45-H 3 —EBi% (FM11) = 2 s v s e s s n s e 51
I N - - T T T T T T T 59
O. BHE&aAVATHEER (FM 1)  » =+« = s s n a1 0t s 0 st 53
0. HR&AVATHEE (BM2) = v n s s 54
O. FRKIAVATEIGR ( FM3) =+ = = =2 s s s s s u v e e s e 55
O. BROVATER ((ZM4) =+ * v s x o n vt n na e a e 56
9. TME&IOAVATEER ( FMS5) =« = n s s = 2 s v e e e 57
0. BBAVATHBE ( TMBE) = =« + = = = = = s v o v e 58
O. HE&AVATEE (FMT7)  » + =+ v s v s s s 2 st n s e n e 59
9. FB&AVATER (FMB8)  » r n v s s s s w s n s a v s e 60
0. FEAVAFTER ( FOM Q)  « » s s s s s s m s s e h e n o w e 61
10. £ —% & (F@M 1)  rncnrm = n e e e e e e e 62
10. F—4 B#& (F@2) = v s s e e a e e e e e e 63
10. ©¥—4 & (F@OB) = v s s s 13w w s e n e w s a e e e e 64
10. F—4 & (F@MA)  » v v v r e na e e 65
10. F—4 B&% (F@MB) = = x s = v s e 66
10. E —% % (@ 6)  * vt e m s or e m e 67
10. ¥ —4% B8{% (FM7T) = s v v s s s e s e e e e e 68
i0. E—#% & ( F@MS8)  » » » v v = a e e s a s e s e e e 69
10. E—4 % (F@QA)  » v v n v s & = 5 0 5 = 1 = 2w ey 70

—
e

------------------------



BHL No

10.
11.
11.
11.
11.
1.
11.
11.
11.
11.
11.
11.
1.
1.
1.
1.
11.
11.
11.
11.
11.
1.
12,
12.
12.
12.
13.

E—% BEi%

A —ERk
AE Y +—ER
A —RR
AE Bk
AL +—BE
A F—B%
AE v F+—Ek
AE L F—B&
AE 2 —Ei%
AEVF—ER
A —HE%
AE v F—E&
AE v F—F&%
A +—HER%k
A2 —B%
RE > F—Bfk
AEvF—H%
A F—BER
A —HER
A —ME&

(£011)
(D 1)
(Zzm2)
(Z®M3)
(M 4)
(FDH5)
(D 6)
(FD7)
(%M 8)
(Z£D9)
(ZMD10)
(FD11)
(FD12)
(FMD13)
(ZD14)
(FMD15)
(M 16)
(ZD17)
(ZM18)
(ZMD19)
(ZMD20)
(ZD21)

(ZM1)

(ZM2)

(D 3)

(TD4)

(FD1)

------------------------

-----------------------

-----------------------

----------------------

-------------------------



1. ¥y —iHy  AEE

e & a-—F B & A W B8 = NS HE
1 0551-100-300-0 G.BOX(1010) ASSY 1 (FO12~(FM10)
2  0551-110-011-2B G.BOX¥—A(L) 1
3  0551-110-021-2B G.BOX#-A(R) 1
4  V781-160-000-4 T74IUE754 PT1/4 2
5 0551-110-012-1A 3viavM9f 2
6  V201-261-012-0 Ih'aF I} M10X120 8
7 V201-260-012-5 04§ Wb M10X125 2
8  V401-100-010-0 SW 10 10
9  V304-260-010-0 Jh'4+vh 21 M10 10
10 V521-100-801-4 A4I9E"¥(B) 8X14 2
11 V720-101-900-6 Ou¥ P6 1
12 V200-260-601-0 &b M6X10 1



1. ¥v—HRy 9 XBEE

(D 2)

Gt

Jdjn

BHa—FK

B & %

UNEE: 2 ]

O W~ N =

—_— L
[y

0551-110-200-0
0551-110-013-0
0298-110-010-0
0298-110-033-1A
V600-110-630-3

0551-110-210-0
V600-110-620-4
0423-101-008-0
0551~110-014-1B
V203-460-802-5

V401-160-008-0

=29YasYx7hCOMP
Frvy ¥ ¥13-19
——}FILR.B(25%32X20)
Y% /25X38X2
RBB

B84 7+COMP
RBB

TP—AM Iy
HSTA A2

AN e LMEY A

SWw

FJ-2520/NSK

6303

6204

M8X1X25
8

— el ) b b

[4%) L —b sk N) b

9T



1. ¥¥y—ahy I XABERE

(Z®D3)

BEa—F

= = B 1

MR

—
CwWwo-uw® gswn—~ |[d

—_ 1 =1 1 et
ST e N =

0375-110-018-0
0375-110-019-0
V705-140-052-0

0375-110~021-0A

0375-110-022-0
0375-110-023-0

0551-110-017-1A

0551-110-026-0
V401-160-008-0
0551-110-022-0

0375-110-025-0
V600-110-600-7
V705-140-062-0
V704-140-035-0
V521-100-801-4

o4 R7h
VL

CH 4k AT+
539FEY
7991(3040)
¥4b9597SP
vE e

Dy 9% L M8X40)
SW

YAV G480

7'9%1(2015)
RBB
CHabATI(T )
CH4bA9(s'y)
AIE"U(B)

92

6007
62
35
8X14

BN RSO R MNRDN -



1. ¥y —1Ry ¥ XBE&E

(€D 4)

5 HM&Ea—F B & A W BH & & DIEE(T
1 0551-112-011-0 #4FH5—2hn'- 2
2 V201-260-802-5  Jf°&H b M8X25 10
3 V201-260-803-0 JB4& b M8X30 2
4  V401-160-008-0 SW 8 12
5  V744-120-350-8  A4NY-0 TC20358 2
6 V600-110-620-4 RBB 6204 2
7 0551-110-025-0 #AM¥ 2% '%(26) 2
8  0551-110-023-1A HAN7L—%3'4(9) 2
9  V600-110-600-4 RBB 6004 4
10 0551-112-012-0  SP7v% 2
11 0375-110-220-0 Y9537 74COMP 2
12 1340-229-002-0B #{}M459F974 4
13 0375-110-027-0  Ymamv 72424 2
14 V720-101-902-1 OYYy" P21 2
15  V744-115-300-7 #{ILo-I TC15307 2



1. Fv—iRy ¥ XBEHE

(£D5)

TE B&R a3-—F B & A BH # # INTE B
1 0551-112-200-0  A"$97°L—FCOMP 2
2 0329-620-298-0 DU7'%a(15X17X20) 2
3 VA01-160-006-0 SW 6 12
4  0660-230-013-0 &' ILMMBEX16-11T) 12
5  0551-112-013-0 7'L—3%7uv'4 2
6  V411-260-010-0  3h'3¥#Hh'% 10 4
7 0412-204-004-0 UTYMMI10} 6
8  0551-112-014-0A 7'L—%hL¥'H 2
9  0551-112-210-0 7'L—%7-LCOMP 2

10 0551-112-015-0A 7'L—%¥a1—(144) 4
11 0551-112-016-1A 7L—F¥a1-R7"Ju¥" 4
12 0551-112-017-0  7’L—%}34 2
13 3780-121-002-0 FY3aAv¥h'% 2
14  8935-005-031-0 Hn-SP 2



1. ¥vy—Ry V XABE

5 B&E& a3—FK B & A ol WFEHLR
1 0551-110-015-0 Fr¥ y74myb 1
2 0375-110-034-0A FIL¥ ¥74%(A) 1
3 0439-110-021-1A Y7327y 1
4  V680-200-001-0 AF-Iak-l 5/16 i
5  V704-140-012-0 CH49¢"M 12 1
6 0375-110-036-0 Y74h'4N 1
7 V210-260-601-2 & ILIMS) M6X12 4
8  0359-110-032-0 Y7Mr-A 1
9  V744-116-260-7 Z{NY-I TC16267 1
10 V744-112-220-7 #40h3-I TC12227 1
11 1122-221-013-0 Y- ILE8X20 4
12 VA11-260-008-0 3IH$4"h'% 8 4
13 V40i-100-008-0 SW 8 4
14  0551-110-220-0 FIVY'0YMNCOMP 1
15 V411-260-016-0 3H'%4%'%'% 16 1
16 V411-260-012-0 sh'¥4'4'2 12 1
17 V500-163-002-5 TYE» 3X25 1
18 V500-163-002-0 Uty 3X20 1
19 0375-110-038-0 %7h7-4 i
20 V580-140-402-2 A7UUHEU(W) 4X22 1
21 3536-111-008-0  RFMAnUh'% 1
22  3051-102-011-0  FaH1tu(16) 1



1. ¥v—iRy 7 ABEHK

(ZD7)

BE BR% a—F B & % I BH & = INGEHL{HR
1 0551-110-016-0  HK{lL%7p(435) 2
2  V600-110-620-6 RB.B 6206 2
3 0375-110-041-1A &1L ¥HP 2
4  V704-140-030-0 CH 49 30 2
5  0551-110~230-0 &1{An'{7°COMP 2
6 3101-101-302-0  7°%3(30X40X40) 2
7 V744-130-420-8 #{Lv-I TC30428 2
8  V742-130-420-5 #4{NL¥-) ‘ V(30425 2
9  0375-110-042-0 ¥-LIh'%K ILE10X30 12
10 V401-160-010-0 SW 10 12
11 V705-140-042-0 CH4MITFH 42 2



1. Fv—iRy o AR

(£D8)

5 B&Ha-—K H &% £ % B B & INGE B
1 0375-111-011-0 ¥74Ln"- 2

2  0375-111-012-0 Y7505 2

3 V710-140-007-0 Eh'4hA7 7 2

4  V200-460-601-2 b M6X12 2 9T

5 V401-160-006-0 SW 6 2

6  3731-551-014-0 Uu7 2



1. ¥v—ARy 2 XBEE

(ZD9)

#5 W& o3—FK B & A F ¥ E 0F INFEHLH
1 0551-111-200-0 & 9IAYIHATF—(MSX)COMP 1
2 0551-111-011-0 H4{FHAYY 1
3 V201-461-002-5 ah'4fILb M10X25 4 9T
4  VA401-160-010-0 SW 10 4
5  V411-260-010-0 Ih34'%'% 10 5
6 0375-111-260-0A 7% %AFAT-COMP 1
7 V201-260-803-5  Ih°4& Lk M8X35 2
8 0551-113-200-0 #{FHAA(LICOMP 1
9  0551-113-210-0 H¥{FHAA(RICOMP 1
10 0551-113-220-0 7'L—%4+HA(LYCOMP 1
11 0357-402-011-0  7°Y¥212X14X12 4
12 0551-113-230-0 7' L—%%pYA(RICOMP 1
13 0551-111-250-0 7'L—%347%COMP i
14 3782-131-014-0 B-4¥"HYy7 2
15  V401-160-008-0 SW 8 2
16  V300-260-008-0 1%k M8 2
17 0551-113-011-0  7'L—%[y}(A) 2
18 V411-260-008-0 Ih'%%'4'% 8 2
18 8935-009-013-0 ¥ 79H5aANAT-L™Y 2
20 0375-111-014-0  7L-%0YF+9F 2
21 0551-111-260-0 7 L—%Ay}COMP 1
22 V500-162-502-0 Ly 25X20 1



1. ¥v—Ry S RERE

(FD10)

FE & a-—F B & A ¥ B B F INFEHH
1 0551-150-011-0A BDU-(21H) 1
2 V720-103-503-2 OUuy P32 i
3 V201-260-808-0 2A'4f Lk MB8X80 2
4  V201-260-814-0 Ih'%E b M8X140 2
5  V401-160-008-0 SW 8 4
6  0551-150-012-0  F4'7°%(9/16-18UNF) 1
7  0551-150-013-0 74 7°4(3/4—16UNF) 1
8  0298-112-300-0A ¥4 3v74M% 20v4490/5L 1
9  0208-112-391-0 724{l4a=%v 3/4-16UNF 1
10 0551-150-250-0 HSTYI47-L(A)COMP 1
11 V580-140-602-8  A7"UUHEW(W) 6X28 1
12 3536-111-008-0 RX&MANUD % 1

_10_..



1. ¥v—Ry ¥ XE&

2 B& 3-~F B & £ ¥ B ® & NS
1 V211-361-203-0 354K LMSP) M12X30 2

2 3101-151-404-0 K4UNATPID'% 2

3 V201-461-002-5 #'4F ILb M10X25 4 9T

4  VA01-160-010-0 SW 10 4

5  0375-115-013-0 A~—4(25X25) () EHEE -8
6  0375-120-011-2A H4NA7'BIYh 2

7 0375-120-012-0  A7'R¥YM AN A(10) 2

8  0374-120-011-0 RAY4H% 2

9  0375-121-011-0 K JLMM10X25-11T) 2

10  V201-460-802-0 Ih'4K Lk M8X20 4 9T

i1 V401-160-008-0 SW 8 4

12 V720-103-504-1 OQYu¥ P41 2

_11_



. 2L — L&

...12_

5 H&H a3-—F B % B B & AR H{
1 0551-211-200-0 5947L—L(A)COMP 1
2 0551-211-240-0 7Fy¥4—FCOMP 1
3 V211-361-002-0 2F 4K LMSP) M10X20 4
4 0551-211-250-0 TFY4H-1(y3)COMP 1
5  V211-360-802-0 b4k ILMSP) M8X20 7
6  0551-210-011-0  HSTHN-— i



2. 72L—LB& (20 2)

5 ®#&a-—F B & A F B & # JNFEHLH
1 0551-221-200-1A Y+Y(A)COMP 1

2 V201-261-203-0 JI# 4k IL}H M12X30 6

3 V411-260-012-0 sH'34'H'% 12 30

4 V401-160-012-0 SW 12 15

5  V303-260-012-0 04+ Mi2 13

6  0551-220-013-0 Y%¥hn'— 1

7 V200-701-203-0 &L} M12X30 9 SUS304

8  V300-700-012-0 +v} Mi2 2 sUS304

9  0551-221-220-0 #¥ 37L—-ALA(R)COMP 1

_13_



2. 7L—LE&

#E H&aO—F MO A BHH B INSRE

1 0551-220-210-0 Y7}7—A(YI)COMP 1

2 0551-220-220-0 Y2k7P—L(7FCOMP 1

3 0551-220-011-0 7'9¥a(25X28X35) 8

4  0551-221-230-1A k¥ '372L—L(A)COMP 1

5 V200-701-203-0 &b M12X30 3 SUS304
6 V411-260-012-0 SH'¥4H'% 12 6

7 VA01-160-012-0 SW 12 3

8  V303-260-012-0 I#'4+vh M12 3

9  0551-220-240-0 Y7FF—-AYTUEYCOMP 4

10 V201-460-802-0 %K Wb M8X20 4 9T

11 V401-160-008-0 SW 8 4

12 V411-260-008-0 sh'¥¥4'F % 8 4

__14._.



5 ®&a-—F B & A B#H & = INFC
1 0551-230-200~-6G 7EVFL-LCOMP 1

2 V201-261-203-0 K 4K Lk M12X30 8

3 V411-260-012-0 30'%4°0'% 12 20

4 V40i-160-012-0 SW 12 i0

5  V303-260-012-0 Ih'4F9hk M12 10

6  V200-701-203-0 &L} M12X30 2 SUS304

_15_



3. EfTEEERK

(D 1)

.

#E H&Ea—F B B B W A # & INFEEE M
1 0550-310-200-0 FVY150ASSY 10
2 0550-310-202-0 FU¥°4(1503%) 10
3 0550-310-203-0 R.BB 6204 20
4  0550-310-204-0 CH4MTCE ) S20 20
5 0550-310-205-0 #4L¥— 20
6  0550-310-206-0 % AbMAn'- 20
7  0550-310-207-0 3H'%4"h'% 14 20
8  0550-310-208-0 S.W 14 20
9  0550-310-209~0 2K %F9b M14 20 P=2
10 V780-150-000-C #YAR=Y7'l A-M6F i0 P=1.0
11 3652-170-001-0  =97° %497’ 10

_16_



3. ETEERR

E BZFa—F B & A % R V5 B il
1 0551-315-200-2B 43154{# COMP 2

2 0551-315-011-0  7°%a(25X28X30) 4

3 0551-315-210-0 4354 %' YTUEVCOMP 2

4 3768-361-029-0 O-4%%—bAH 1% 2

5  V401-160-010-0 SW 10 2

6  0360-302-004-0A }5990-5% 95K Lh 2

7 V767-400-000-0 JWA=%7lL A-M6F 2 P=10
8  3652-170-001-0 =97 A%yy7 2

9 0551-315-012-0 4{33{Y¥'SP(L) 1

10 0551-315-013-0 {334%°SP(R) 1

11 0551-315-015-0  +HFVY(160) 2

12 V600-110-620-3 RBB 6203 4

13 V705-140-040-0 CHI'4MTFH) 40 2

14 V742-120-350-6 #4N¥-) VC20356 2

15  0551-315-016-0 &7 Vv 2

16 V705-140-035-0 CH4FAITT) 35 2

17 V704-140-017-0 CH4 ¢’ 17 2

18 1122-266-017-0  A574(42F) 2

...17_



ETEERRE

(20 3)

Gt
9o

B&Ha—F

B & % W

¥

/IN5E B i

w0 oo~ .~

—r
u—y

0327-310-200-3D
0374-310-011-3D
V600-110-620-4
0376-310-011-0
0374-310-014-0

3768-361-029-0
V401-160-010-0
V203-461-002-5
0360~-302-004-0A
V767-400-000-0

3652-170-001-0

A—3(135X130)COMP
YH(20X144)

RBB

A= (20X47X10)
&' AFAN—(20X47X5)
A-4%"v—b A H %
SW

ISR LMY S
r9H0-5Y MR b
HNVA=Y7N

=y NEvy7’

6204

10
M10X1.25X25

A-M6F

_18_

[ S T T T\ B NI R N S R L S

9T

P=1.0



3. ETEEMNR

e BREa—FK B % % F BE & IR B
1 0320-303-001—-1 74ViLR-3 2
2 0356-203-001-0 74NF%7b 2
3 V600-110-620-4 RB.B 6204 4
4  V705-140-047-0 CH4MAUTT) 47 4
5  V742-120-470-6  *+{L¥—) VG20476 4
6  0330-203-003-0 K'Y UhI5- 4
7 V767-400-000-0 #H#YAZY7N A-M6F 2 P=10
8  V304-260-012-0 Ih'4Fvk 21 M12 4
9  V401-160-012-0 SW 12 4
10 V411-260-012-0 s0'%4'4'% 12 4
11 3652-170-001-0 =97 bi+v7 2
12 0551-340-200-2B 74}'7AvM(A)COMP 2
13 0551-340-011-1A 7A{NF¥vb7'A9d 2
14 3768-361-020-0 DO-4V"9%h'% 4
15  V401-160-016-0 SW 16 4
16 V332-260-016-0 FYMKYA 31 MI16X15 4
17 0551-340-012-0  74}F% ILM289) 2
18 V411-260-020-0 3H'%$4'4% 20 2
19 V303-260-020-0 Ih°4F9h M20 8
20  0550-340-011-0  &2a'F1—7°(100) 2

_19_



(2D 5)

3. EfTEENR

INTE

g+

@ &

BHE 3—F

75

JR—3(350X52X72)

0551-352-011-0

i

_20...



HE #B&3—F B OB & B & & INFE BT
1 0551-410-200-1A ZIL¥'YGX620 1 HONDA GX620-SAE1
2 0551-410-210-0 A{IHUMIT5— 1 1708 &

3 0551-410-220-0 V75AT— 1 IV V&S
4  0551-410-230-0 v777° RTU4— 1 A VB
5  0551-410-240-0 IHY'-AFNA7TBH#47 1 IV VER G
6  0551-410-250-0  IHV'—AMNA7 WU 1 IV VRS
7 0551-410-011-0 75v ' h8X143Y) 4 IV UER R
8  0551-410-012-0  75v% " Mr8X203Y 4 IV UG
9  0551-410-013-0 77V% K LF6X83Y 6 IV VER G
10 0551-410-014-0  63)O9979%% 6 IV UERR
11 0551-410-015-0  IFY =AM RHub 2 TV VER S,
12 0551-410-016-0 83754 Fvb 4 I VEG
13 0551-410-260-0 L4FI74%— 1 IV
14  V200-260-604-0 & I M6X40 1

15 V411-260-006-0 Ih'44"0'% 6 1

_21._



FE & a3-—F B & 2 W B B F INTEE{

16  V401-160-006-0 SW 6 1

17 0551-410-017-0  Ya%w)3ss 9%— 7X7X33 1 VYU &
18  0551-420-200-0 T—InN'{7°COMP 1

19 V201-460-803-0 44k ILb M8X30 2 9T

20  V411-260-008-0 IH'$4#°h'% 8 2

21 V401-160-008-0 SW 8 2

22  V201-261-005-5 0%k ILb M10X55 4

23 0375-630-014-0 Hn'-A~A-H 8

24  V401-i60-010-0 SW 10 4

25  V303-260-010-0 ah"4+vh M10 4

._.22_



5 B8R a—FK M & A B & £ NSRBI
1 0664-452-011-0  n"93Y44B(Y) 44B19R(Ca-MF) 1 YUASA

2 0663-226-011-0 ~YFUAHI 1

3 0663-226-012-0 aAWFUAHIRY’ 2

4 V300-260-006-0 7V} M6 4

5  0551-430-011-1A 7°7AU-bt> 1

6  0375-431-014-0  T{TAY-}EU(C) 1

7 V210-260-601-6 K IMS) MBX16 1

8  3789-151-006-0 #H¥'3Yvy 1

.._23_



HE HREI—F B & £ W B & NE: R
1 0551-430-250-0 A4Y3—F(1010)COMP 1
2 0450-505-013-0 A YALYF 5P 1
3 3614-273-220-0 #F3IMIA{YFASSY 1
4  3536-142-006-1 4¥-brhty RF-140 3
5 0375-436-011-0 7F7-7i—% i
6  0312-435-011-0  7O—;—4M)9¥ 1
7 V111-163-002-0 7°3AFA3%Y° M3X20 4
8  V411-260-003-0 3h'$4"h'% 3 6
9  V401-160-003-0 SW 3 4

10 P115-430-051-0 3vMI—3(77—+-%) 1
11 V210-360-602-0 & ILMSP) M6X20 1
12 V360-260-006-0 H#3n RY%TYb 1921 M6 1
13 0354-422-230-0A Y3Y}A{YFCOMP 1
14 V300-260-003-0 Fvb M3 2
i5  0550-611-013~0  YL—A4YF i
16 0437-711-200-0 3Y7°(12)SET 12V-25W 1
17 V201-260-801-6  JI4°4K Lk M8X16 2
18 V363-260-008-0 ab'§45n"3Y5Fvk 291 M8 2
19 0661-726-013-0 4+ 7—AtY 1

_24._



A7oa 0 (FD1)

Y
H
\
\4
\
i
3

#E ®B&a-—F # & % % B &K * /NFE B ffi

1 0453-450-011-0  A'y7Y~(LD) 46B24R 1 INADA

_25._



~ B8 A7 av( FD2)

#E5 #BMaa—F @ & & B & *F NS B

1 0453-451-011-0 A'971)468(Y) 46B24R 1 YUASA

_26_.



T B a—F B & B B#H & & INTE B
1 0551-440-210-1C #3942 ICOMP 1
2 0453-420-320-0 F497°(424600)ASSY 1
3 1620-111-004-0 2405 (72—1Il) 1
4 VA411-260-008-0 SH'4H°H'% 8 1
5  0403-102-013-0 Y-N&'LF8X16 1
6 0551~440-011-0 ¥ =¥"k—Z (#2370 1
7 3615-311-003-0B H-AnUMNASSY(D=12) 6
8  V211-360-802-0 Ih 4k LMSP) M8X20 6
9  0551-440-012-0 %2 Yay$—A(7a—Il) 1
10  0551-440-013-1A FWauk—AGE V7)) 1
11 0551-440-014-0 MK —bFa—7(AN—T) 1
12 0551-440-220-0  72IM7¢M4—ASSY i
13 V411-260-012-0 Ih'34h'% 12 1
14 0551-440-015-0 v} 1

_27_



5. (EEEMRK

(ZD1)

_28._.

F #H&E a—FK B & A F B#% & * INFRHELE
1 0551-510-200-0 Abyn'A'—ACOMP 1

2 V211-360-802-0 W &K ILMSP) M8X20 5

3 0551-510-011-0 7—I(E) 1

4 V183-448-002-0 OJ7hIT7HOR HEL RS M8X20 2 9T

5 3900-220-011-0  7¥&%(11X40X05) 1

6 V401-160-010-0 SW 10 1

7 V203-461-002-5 27 4& LEGEHYA) M10X1.25X25 1 9T

8  0551-510-210-0 A" LPAMA(E)COMP 1



5. nEXEMNR

(£®m2)

[~ /9

8

g5 & a2—F B ® A B & & ISR EH
1 0551-510-220-4D 734448 COMP i
2 V201-461-003-0 Ih4kK ILk M10X30 4 9T
3 V411-260-010-0 SH'3¥40'% 10 8
4  VA01-160-010-0 SW 10 4
5  V303-260-010-0 aIh'4+wh M10 4
6 0375-511-011-0  7°%2(12X14X15) 2
7  0551-510-012-1A F347°%47} L
8  V600-130-620-6 RBB 620622 4
9  V707-140-062-0 A+97)u4'(F1) 62 3
10 0551-510-013-0 %—(07X07X25) 2
11 V183-448-002-0 DOYAY7FHIRIYFIIZY  M8X20 2 9T
12 0551-510-014-0 HSTHN97 =) 1
13 3100-310-003-0 IVV'u7-J¥4'4 1
14 VA01-160-008-0 SW 8 5
15 V201-460-802-5 J#'4Kibh M8X25 19T
16  0551-510-015-1B 7—1(C-131) 1
17 0551-510-016~0  #%Y47—1(B-146) 1
18  0551-510-017-1A H3—(31X38X12) 1
19 V704-140-030-0 CH4RTI(U'H) 30 1
20  0551-510-230-0  =%'{¥alahy " 4COMP 1
21 V201-460-803-0  Ih 4k Wb M8X30 4 9T



5. mEZERER (20 3)

BHEa—F # & & EH # = L i

5

1 0551-510-240-1A A LFAMA(CYCOMP , 1
2 V201-260-803-0 J#' %K ILb M8X30 2
3 3560-201-015-0 HYY9L 4989 H'% 2
4  V401-160-008-0 SW 8 2
5 0551-510-018-0 27 A ILMSC42HP4) i
6 0551-510-019-0  2¥' A JLMSB43HPA) 2

_30_



5. mEXEHER

(ZFD4)

5 B&a-—F B & % K B#H & = NSRBI
1 0551-511-200-2C Fu¥3vyF—ACOMP 1
2  V211-360-802-5 Ih'4kK LMSP) M8X25 2
3 V201-260-802-5  ah'4& b MB8X25 2
4  VA11-260-008-0 sh':¥#%'% 8 4
5  V401-160-008-0 SW 8 2
6 V303-260-008-0 ah4Fvh M8 2
7 0329-620-017-0 DU7Y2(i15X17X10) 1
8  3737-121-026-0 T»3av7-Y 1
9  V704-140-020-0 CH'4FA9(H) 20 1
10 8935-001-011-0 Fu¥3au7°-Y TPC75T i
11 V704-140-015-0 CH 4G/ H) 15 1
12 8935-005-031-0 Hn-SP 2

_31_



5. REEXEBER

(Z£D5)

5 B&a3-—F B R £ W EH B & NSRBI
1 0551-520-200-0 #'v7"7-JCOMP 1

2 BO35-058-026-0A SPYFH'H % 1

3 V401-160-010-0 SW 10 1

4  V201-461-002-0 W &K ILE M10X20 1 9T

5  VA11-260-020-0 Sh'EHH% 20 1 B 0-1(T=3.2/5%R)
6  0340-301-004-0  FY7°YTuEvyy7 1 @3 0-1(T=2.3/A%M)
7  0551-520-011-0 24"~ ILMSA33HP4) 1

8  0551-520-2i0-1B 179Fv¥3uF—ALCOMP 1

9  8935-004-026-0 AIVATYYIVT Y TPB-45T 1

10 V704-140-015-0 CH4MIE ) 15 1

11 1317-401-004-0 Y2959 F A7y 1

12 8935-005-026—0  AhvaTyiavayl i

13 V303-260-008-0 b4+t M8 2

14  VA11-260-012-0 3IH44°0'% 12 1

15 1305-241-001-0A H{NAIAT-E'Y i

16  0551-520-220-0 Tv¥av7—ARykCOMP 1

17 V411-260-008-0 Ih'¥4'4'% 8 i

18  8935-009-013-0 4{¥79H9A0AT-t™Y 1

...32_



EEFEEHER

(E®86)

G

J0

& a—F

B & A W

%

USR]

—r

QW oo~ Ol N

0551-521-200-1A
3737-122-001-0A
V7104-140-015-0
0380-623-021-0
3728-552-008-0

V303-260-008-0
V411-260-012-0
1305-241-001-0A
0770-743-011-0A
0551-521-011-0

HSTTYY3au7—LCOMP
7"—1)(FT60X30)

CH'ARAUY ) 15
A7)0 (HESB)
FUAVERN $

my IS ] M8
R A 12
RANADAT-E"Y
IVNERY7°(8%25)

39~ LMSC30HP4)

._.33.._.

— ot ol — —]

- =L =1 L N



5. ZEEKERRK

(£E®7)

_34_

55 B a-—FK =1 - T < I 1 B#H H + NG R i
1 0551-521-012-2B HST7-(C-129) 1
2 0208-112-403-0  77YHT500(L) 1 4%y H-1030827E
3 V210-360-601-6 K ILMSP) M6X16 4
4  0551-521-013-1A HST%-— 1
5 V183-448-002-0 RIDITHIK 3HERRY  M8BX20 2 9T
6  0551-521-014-0  HST?’-)M#'% 1
7  0329-550-022-0 77U¥MIA 1
8  V200-460-601-4 'ILb MBX14 19T
9 V200-460-601-6 &L} M6X16 4 9T
10  V401-160-006-0 SW 6 4



6 . HMEFEMNRE

(Z£01)

5 & a-—F B R & W B s = NG HL{T
1  0551-530-250-0 17%&k Y7 L2R-371R i
2 0412-205-009-0 90°IM#& 2
3 V211-360-802-0  ah "4k LMSP) M8X20 4
4  0551-530-260-0 #4Iir’ - ASSY 1

_35_



6. HEEXERE®E

(20 2)

[{4

6

>
N

\ﬂ_//

g

g5 #H&Ea—F B & £ F B OEH *F INFE R
1 0551-530-200-0  &'V7°Y94%Ln'—COMP 1
2 V411-260-012-0 3h'%4"h'% 12 2
3 1305-241-001-0A HKAILAGAT-L"Y 1
4  3640-585-001-0A =FJ({/Im-) 1
5  0551-530~210-0 4'»7°Y947—-LCOMP i
6  V580-140-402-2 A7 E"U(W) 4X22 1
7  3536-111-008-0 R&¥FAnUD'$ 1
8  0551-530-011-0 #v7'myl i
9  V411-260-008-0 IH'¥4'h'% 8 2
10 8935-009-013-0 4¥795A0AT-t"Y 2

_36_



i EEEE B R

(£®3)

_37_

5 B& o—F B & & B#H & * NSEHLE
1 0439-614-012-1A 179hvi{tyy” 1
2 V210-360-601-6 & ILMSP) M6X16 2
3 V360-260-006-0 #7A'2YEF9L 1%1 M6 4
4  0329-531-011-0A A L7(FUHTIXSS0 i
5  V200-260-605-0 )L} M6X50 2
6  0412-205-009-0 90°IJLikK 3
7  0550-530-012-0 #§—2(1950) 1
8 0551-530-012-0 k—-Rhn—(a7%) i
9  0551-530-013-0 :k—A(1600) 1
10 0551-530-014-0 K—2(2260) 2
11 0326-053-016-0A {—2Z(3210) i
12 3536-142-006-1  4¥-Frhty RF-140 3
13 0325-503-004-1 t&'-h44 RF-250 6
14  0700-470-451-0 2alr —hS10(1780) 4799 ST-10 1



6. AEEEEAR

(D 4)

5 #&3—F B & & % B w & INFEEE TR
1 0551-531-200-1B ¥Yv4°80(184-342)ASSY i
2 0551-531-210-1A $YY4'80(270)COMP 1
3 0551-531-201-1A RAwk(341) 1
4  0551-531-202-0 AvFAn'—80(U) i
5  0620-530-402-1A E°Ab80 1
6  0315-303-224-0 % ARY-N35 i
7  0315-303-225-0 UAY¥Y35 i
8  V720-102-402-0 OYv¥ P20 1
9  0620-530-403-0 Unv%v80 3
10 0433-025-013-0 BYhI7FYEbARY 1
11 V411-260-016-0 Sh44" 4% 16 1
12 V331-460-016-C  Fwb(kyA) 2%aM16X1.5 1 7T
13 0412-205-009-0  90°IN 3
14  0312-530-015-0 E"»(20X156) 1
15 V411-260-020-0 sh'¥4'5'% 20 4
16  V500-165-003-0 Ut™v 5X30 4
17 0344-530-014-0A YUYH'AYNEY i

_38_



6. mMEFEBER

(Z£D5)

g2 B&&a-—F B & % W BHE H = INSEEE
1 0551-750-200-2C ¥u4'(h9/9)ASSY 1 2~12 bybR
2 0551-750-210-1B Yu4°(h%/7)COMP 1

3 0551-750-220-1A EyM(9/9)COMP 1

4  0551-750-201-1A BykHn'—63(U) 1

5  0315-303-223-1A EARY 1

6 0315-303-224-0 4 AM-I35 1

7  0315-303-225-0  Un'9Y+$.35 1

8  V720-102-402-0 OY¥ P20 1

9  0315-303-226-0 UNY%U63 3

10 0433-025-013-0 RBYAITHIEMRY 1

11 V411-260-016-0 IW44'%'% 16 1

12 V331-460-016-0  +9MikvA) 2%aM16X1.5 1 71T

13 0412-205-009-0 90°Ljbk 2

14 V600-150-620-2 RB.B 6202DDU 1

15 V704-140-015-0 CH2bI D) 15 1

16 0551-750-011-0A Yu¥FHI(IR) 1

17 V201-700-801—6 Ih'%k L M8X16 2 $US304
18 VA411-260-008-0 Ih'$4#4'% 8 2

19 V401-160-008-0 SW 8 2

20  8935-058-026—0A SPY¥ ¥ h'% 1

21 V201-701-002-5 h™4& b M10X25 1 SUS304
22  V401-160-010-0 SW 10 1

...39_



HEEERR

(£D6)

aF

Jin

M&HE a3 ~—F B & A W

N B

O Wwo -~ bWk~

—_—t emk
-l

0551-540-210-0A HST4Y4COMP
V211-360-802-5 Ih 4% ILIMSP)
V363-260-008-0 IH4Hsn wvEivh
0551-540-011-0  ¥a1%32%717))
V411-260-008-0 3IH'¥4'%'%

0403-102-013-0 Y-k Mb8X16
0551-540-012-0 &= "F—A(HST)
3615-311-003-0B —-AnVFASSY(D=12)
0551-540-013-0 HSTH—-ZA
0329-141-014-1A K—An'UN

0551-540-014-0 N4 —bF277°(520)

M8X25
2%aM8

_40_

»n R =



7. EBE-HAA—BE

(D 1)

N
5 B& a-—F B & A I BHE & & INST B
1 0551-610-200-0  74A4%49Ln"—COMP 1
2 3761-242-017-0 La™—-=%") 1
3 V203-460-802-0  aW' &K WMEYAH M8X1X20 2 9T
4 8935-042-028-0 FVARTHFYMVY 2
5 V401-160-008-0 SW 8 2

_41_



7. BE-HN—EE

(¥D2)

2 & a-—F B & & I % @ =+ INTEEA{H
1 0551-611-200-2B #H7H4(LYCOMP 1

2 0551-611-210-2B #954(R)YCOMP i

3 0375-611-011-0 #9495 (1) 3

4  0375-611-012-0  H9u494(2) 1

5  V201-461-003-0 1h° %K Lb M10X30 6 9T
6  8935-001-062-0  ANH"I'%x 16

7  V401-160-010-0 SW 10 8

8  V303-460-010-0 2a#'4F9b M10 g8 7T
9  0340-301-004-0 ¥ U7 YTUEVYYT 4

10  V500-164-003-5 YL’V 4%35 2

11 8935-042-034-0 Y¥hn-h{A{SP 2

12 V201-461-003-5 W' %K b M10X35 2 9T
13 0551-612-011-0  HA¥F(L) 1

14 0551-612-012-0 LB IR) 1

15  0551-612-013-0  AYF(M10X500) 1

16  0551-612-014-0  RAy}N(M10X475) 1

17 V303-260-010-0 JF 4+ M10 4

18 V411-260-010-0 3Ih'+4H'% 10 4

19 V500-162-502-5 7Yty 2.5X25 4

._42_



7. BE-HA—MER

(€D 3)

#5 #WeEad—K B R A W B#HE & = JNFE B
1 0551-611-220-1A H4}F439FLn"—(L)COMP 1
2 V201-260-803-5 b 4K Lb M8X35 i
3 V303-260-008-0  IH'4F9h M8 i
4 1394-330-012-0 ALFLIYYS 2
5  0551-611-230—1A #4F939FL"—(R)YCOMP 1
6  0375-611-015-0  YAN459YF,Fut’y 1
7 V411-260-014-0 SH34H'% 14 1
8  V500-164-003-0 7Yt 4X30 i
9  0551-611-013-0 H#4F459Fayp'(L) i
10  0551-611-014-0 H4F43vFnuh'(R) 1
11 V411-260-010-0 IH'+4"I4 10 4
12 V500-162-502~-5 7Y™y 2.5X25 4



7. BE-HA-BE

(D 4)

g5 #B&G&a-—F B & A R ¥ & = NFRBLH
1 0551-620-400-1A Y%4%n U(G)COMP i
2 V211-361-002-0 2h'9F WMSP) M10X20 2
3 V201-261-002-5 b4k Wb M10X25 9
4  V411-260-010-0 SH'%H 4% 10 1
5 V363-260-010-0 254985/ 29%FFYh M10 3
6  0551-620-011-0  HK—Ah -} 1
7 3900-551-011-0 P4¥&3a7'h 1
8  0551-620-230-1B HiN—AF—COMP 1
9  V401-160-010-0 SW 10 6
10  V303-260-010-0 J4'4+9k M10 2
11 8935~008-014-0 FYAIT-AVFV9% 2

...44_



>
7. BE-HAA—BE (ZD5)
HE #B&a—F B & A ¥ m E INFEEL{H

1 0551-623-200-0  YHau43yFLn'—COMP 1

2  0551-623-210-0 H#%'3%9439FLn"-COMP 1

3 0551-623-011-0  #39Fayb(Y72%) 1

4  0551-623-012-0 H59FAyMNFHF 3%) 1

5  V411-260-010-0 IH'344'% 10 2

6  1305-241-001-0A H[ALIATAT-LY 2

7  0342-623-012-0  459FAY+7°L—} 2

8  V304-260-010-0 2Jh"4F9h 2%1 M10 4 :

9  0380-623-021-0 A7 4 (HE66) 1 ETRIRIZEA
10  0551-623-031-0 Z7UY4°(HE110) i

11 0551-520-220-0 FvY3y7—-ALOyNCOMP 2

12 V411-260-008-0 IH'44"h'% 8 2

13 8935-009-013-0 4YIV4A4AT-£Y 2

14 2101-230-001-0A =% 1

15  2150-811-002-0A U725 Y—) i

_45_.



5 B&3-—F B & £ % B#HE & & INFEHLE
1 0551-623-230-1A 7'L—%Ln'-COMP 1
2 1111-410-013-0 =%")(FH-10) 1
3 0551-623-013-1A 7L—-FLn'-Y7UtY 1
4  0551-623-014-0 7'L—%¥7uh5- 1
5  V411-260-014-0 Ih'&¥4'H'% 14 5
6  V500-163-002-5 7tY 3X25 5
7  0551-623-240-2B 7'L—%179Y4COMP 1
8  0551-623-015-0  n7°(12X19X124) 1
9  0315-503-004-1 J3VFyTY 1
10 V411-260-012-0 sH%4°0% 12 3
11 1305-241-001-0A HANLIAYAT-L'Y 3
12 0551-623-017-0 7'L—%nmy} 1
13 0551-623-018-0  7L~—%Y4-YSP79) 1
14  V211-360-802-0 Jh %K LMSP) M8X20 2
15  8935-004-048-0 Hn™-SP 1
16  0376-623-011-0  7’L—%0YF(110)E4" 1
17 0351-623-014-0 T VAMFYH 1
18 0875-611-014-0  FYMEHIM10) 1
19 V300-260-010-0 F9b M10 1
20  V411-260-010-0 SH'$4°H°% i0 1
21 V500-162-502-0 JYt"» 2.5%20 1

...46...



7. BE-HNA—BEE&

(ZD7)

75 W& a—F M % 2 % BEH H F INFE B
1  0551-623-250-0 HSTYTUEYCOMP 1
2 V201-260-802-5 ab'4f b M8X25 2
3 V411-260-008-0 IH'¥4H'% 8 4
4  V401-160-008-0 SW 8 2
5  V303-260-008-0 2ah'43vt M8 2
6 0551-623-300-0  HST7L-%7'L—MA)COMP i
7  0357-402-011-0 7"9Ya12X14X12 2
8  0550-630-022-0 HSTLA'—F¥I 1
9  0550-630-023-0 HST7L—F i

10  0550-630-024—-0 HST7L—%5{=u¥ 2
11 V411-260-014-0 SH'%4°5'% 14 1
12 V300-260-014-0 +vb M14 2
13  0551-623-270-0 HSTLA-COMP 1
14 V411-260-012-0 SH340'% 12 1
15  8935-004-048—0 Hn'-SP 1
16 1305-241-001-0A K4 IAVAT-LY 1
17 0410~202-006-0 FIVY'¥UY97’ 1
18 0551-620-430-0 Ln'—#'{F COMP 1
19 1115-441-011-0 F5R32%5° (M6 X16)W 2

- 47 -



7. BE-DA—BR

(£D8)

e R a—F B & A L ) INTEEA i
1 0551-623-310-1A H9,4%7-LCOMP i
2 4173-301-005-0  A{YSFr407"951 2
3 0423-502-001-0A #H39FYTUEY 1
4  V411-260-012-0 sH$44'% 12 1
5 1305-241-001-0A HALAHAT-E™ i
6  0551-623-051-1A Y9agHSTAYM 1
7 VA411-260-010-0 ' 34°0'% 10 2
8  V500-163-002-0 7Yty 3X20 2
9  0551-623-052-0 7% vAkryMM8X185) 1
10 0550-150-013-0 RBYNIVNAPYLH(L) 1
11 0550-150-014-0 OYFIVFATILY(R) 1
12 V300-260-006-0 F9h M6 4
13 V411-260-006~0 SA"34'7'% 6 2
14  V303-260-008-0 2h"4Fvh M8 1
15  3900-540-016—0 I #FYMLMS8) 1

_48._.



7. BE-H—BHE (2D 9)
2

5 #M&a-—F B A W BEH B = pFEB{H
1 0551-624-012-0  F3—474% 1

2 3536-142-006—1 D{¥-bih74 RF-140 1

3 0551-624~-011-0  anyr —bpFa—7"(04%-) 2

4  0376-625-011-0  ZOVRLN— 1

5  0376-625-012-0 #—7"(AEYHL) 1

6  V111-166-001-2  7°FAFA%Y° M6X12 2

7 V411-260-006-0 3H'%4"1% 6 2

8  V401-160-006-0 SW 6 2

_49_



7. BE-HAA—BEE

B&Ea—K

B & B W

7]V 5% B {

—
SCom~om N = |

—_ oemh el b b
O de N =

0551-630-200-0B
V201-261-003-5
V411-260-010-0
0412-204-004-0
0375-630-014-0

V303-260-010-0
V211-260-802-5
3731-561-008-0
0551-630-220-1A
V210-260-601-6

3789-151-006-0
0551-630-011-0
0551-630-012-1A
0551-630-230-1B
V211-360-802-0

IV VAN —COMP
Ihaw
Ve
UtyrM10)
An-An"—4

u i
IH° AR WMS)

¥ v-—1yI¥h s
70U —COMP
R ILMS)

#3007
HAMHn-

a7y’ -\hn -
TN -COMP
Ih sk MMSP)

M10X35
10

M10
M8X25

[y
—_ =S NN NN DN -

M6X16

—_

e =t e — N

M8X20

- 50—



(2D 11)

7. BE-HAA—BE

_51._

ffE WHRa—F B & £ B & = NS
1 0551-640-200-0 My FCOMP 1
2 V201-461-002-5 JH'4f N M10X25 2 9T
3 V411-260-010-0 SH:#"h'% 10 2
4 V363-260-010-0 h'4#5mW'2Y4Tyh M10 2
5  V211-360-802-0 Jh'4kILMSP) M8X20 1
6  V411-260-008-0 IH'¥%'4'% 8 1
7  V401-160-008-0 S.W 8 1
8  V303-260-008-0 Jh"4F+vh M8 1
9  V201-260-802-0 44K 'ILb M8X20 1



8.

—h Bk

g5 &S a-—F B S & ¥ B & ) ANFEHA
1 3693-240-200-0B ¥—PASSY 1
2 V201-261-003-5 aF'4% Lb M10X35 2
3 V411-260-010-0 SH' ¥4 h'% 10 5
4 V303-260-010-0 b4+t M10 2
5  0412-204-004-0 UFYMM10) 2
6  8935-001-062-0  AMLY'H'% 2
7  0551-651-200-0 ¥—hHJY45COMP 1
8  V201-461-002-5 Ih'4& b M10X25 19T
9  V401-160-010-0 SW 10 1
10 0452-210-250-0 44§99 v3"ACOMP 2
11 V362-260-008-0 A 5¥7n 393549t 11 M8 2

_52._.



9. FIE&IAVATHR

(D 1)

5 B& 3-—F B & A W BE# & = INTE B
1 0551-710-200-2E —#"{COMP i

2 0551-710-250-0A AHLINCOMP 2

3 V201-261-002-5  af'%f bk M10X25 12

4 V411-260-010-0 Sh'$4'7'% 10 28

5  V401-160-010-0 SW 10 16

6  V303-200-010-0 a°%+vk M10 12

7  0551-711-200-2B F'YF994COMP 1

8 V211-360-801-6 2h™4dH LMSP) M8X16 6

9  0551-711-230-1B 77 0—3COMP 2

10 V600-150-630-2 RBB 6302DDU 4

11 0551-711-011-0 7y70-3%% 4

12 V704-140-015-0 CH4MI(Y ) 15 4

13 V201-461-002-0 Ih'4F ILh M10X20 4 9T

._.53_



fia&avA_A7HEE

(FD2)

_54._..

5 &% a—F B O A F BE & & INSEHAE
i 0551-711-250-0 44Eh'~FCOMP 1
2  0651-711-012-0 &4{tH’-F1% 1
3 V200-260-602-0  #)Lb M6X20 8
4  0772-810-015-0 " A%H'%(6) 16
5  3789-151-006-0 &3/'3Yv7 8
6  0660-420-014-0A S+YMMSE) 8
7 0375-631-011-0  /J7'HK ILMM8X20) 4



9. HERKIAVATHEK

(Z®D3)

— bB5 -

5 V& a-—F B & A I A% & % /NG Bl
1 0551=712-200-0 RB—3A—ACOMP 1

2  0551-712-220-0 H—3(490)SET 12

3 0551-712-221-0  A—5(PR490) 12

4  0551-712-222-0 n471(12) 12

5  VB00-163-002-0 7YE'y 3X20 12

6  V201-461-002-0  aF4FK L M10X20 10 9T

7  V401-160-010-0 SW 10 10

8  V411-260-010-0 sh'3¥4'0'% 10 10



(£ED4)

g5 #&ao-—F B & A W B #E H ANFRELf
1 0551-713-200-0 }'34{7'B—5COMP 1
2 0551-713-220-0 K'347°7-Y+3LCOMP 2
3 V600-150-600-5 RB.B $005DDU 2
4  V705-140-047-0 Ch'3bAI(GFTH) 47 2
5 W201-261-210-0 i %R ILMYI2Y7) M12X100 4
6  V304-260-012-0  IH'%+vh 251 M12 4
7 0551-713-230-0 7 —YA%LTybA™-ZCOMP 4
8 V211-361-002-5 h" %K LMSP) M10X25 8
9  3900-220-011-0  79¥%(11X40X05) i
10 0351-110-015-0 OYHak 45 LA 0X30 1
i1 V401-160-010-0 SW 10 1

_56_



9. FE&IIVATHE

5 #WHa—F B A & W B & NFEEH
1 0551-713-300-0 74}30-5COMP 1

2 0551-713-011-0 P4N30-3%"% i

3  V600-150-600-5 RBB 6005DDU 2

4 V705-140~047-0 CHEMITT) 47 4

5  V704-140-025-0 CH'ZbA9¢"H) 25 4

6  0551-713-013-0  J94(25X30X0.8) 1 AEA
7 0551-713-450-0 Iy~ 7R-5MY5A(L)ICOMP 1

8 0551-713-340-0 uA'7O—5M)Y5{R)COMP 1

9  V600-150-620-5 RBB 6205DDU 2

10  V705-140-052-0 CH4M9(TH) 52 2

11 V201-701-002-0 A %K b M10X20 4 SUS304
12 VA11-280-010-0 Ih'4$4°4'% 10 8

i3 V401-160-010-0 SW 10 4

14 V341-160-010-0 JF'474039} M10 4

_.57_..



9. FIa&aAVAT7HE

(¥D6)

0551-713-012-2B YA 7AILN1236)

— h8 -

g5 s a—F B R & I | A i IMNFE R
i 0551-713-031-0  Fzvh'{V 1

2 V201-700-802-0 &k b M8X20 2 SUS304

3 V411-260-008-0 SH'490'% 8 4

4  V401-160-008-0 SW 8 2

5  V341-160-008-0 Jh'4740%9hk M8 2

6



9. HE&aVAR7HERE

(Z£D7)

5 #WM&H a—F B R A W B¥  #H & INTEEEE
1 0551-714-300-1A 3Ja7HA(LICOMP 1

2 V201-70i-002-0 A% b M10X20 3 SUS304
3 V201-700-801-6  Jh'&k L+ M8X16 2 SUS304
4  V201-700-802-5 21'%:f Wb M8X25 2 SUS304
5  V201-700-802-0 14 4F ILb M8X20 2 SUS304
6  V411-260-010-0 SH'444'% 10 3

7  V401-160-010-0 SW 10 3

8  V411-260-008—0 Sh'¥4h'% 8 12

9  V401-160-008—0 SW 8 6

10 V341-120-008-0 Ih"4749049h M8 6

11 0452-210-250-0 =4'{F"9%v2° LCOMP 1

12 V362-260-008-0 IW447n 295+ 9b 1¥1 M8 1

13 0551-714-011-0A A YFzun'{} 1

- 50 -~



9. fE&aAVATHE

(ED8)

#£#5 ¥R o-F B B A W B & & INFE B
1 0551-714-220-1B 3I374(RICOMP 1
2 V201-701-002-0 ah' &K Lk M10X20 3 SUS304
3 V201-700-801-6 Jh'4&fk b M8X16 4 SUS304
4  V201-700-802-0 44 Wb M8X20 1 SUS304
5 VA11-260-010-0 Ih'¥¥'9'% 10 3
6  V401-160-010-0 SW 10 3
7 V411-260-008-0 3A'%Y'5'% 8 12
8  V401-160-008-0 SW 8 6
9 V341i-120-008-0 21h'479nFvb M8 6
10  V201-700-802-5 Jh"&%K b M8X25 1 SUS304

_60._



9.

fEe&avyArPHE

(ZTD9)

_61_

5 HE a-—F B % £ ¥ B & = INGEBA
1 0551-715-200-2B %3N YCOMP 1
2 V362-260-008-0 ab4HIn RuiFub 11 M8 5
3 0551-715-210-1B T AFXHICOMP 1
4  0551-715-011-1A Y5¥7°4 1
5 V411-260-008-0 IH'¥4°H'% 8 7
6 V401-160-008-0 SW 8 7
7 V341-160-008-0 aIh'4790fvh M8 7



10. E—42 &

(D 1)

5 B&a-—F H &% % F 82 & _=E INEBE
1 0551-720-300-0 bE—4Y4n"YA(L)COMP 1

‘2 V201-700-802-0 A4k ILb M8X20 3 SUS304
3 V201-700-801-6 A4k b M8X16 3 SUS304
4  VA11-260-008-0 SH'E4°4°% 8 17

5  V40i-160-008-0 SW 8 14

6  V341-160-008-0  2h'4740Fvh M8 3

7 V363-260-008-0 W' 4¥IARYEFVE 291 M8 9

8  V201-700-802~5 W4k b M8X25 8 SUS304
9  0551-720-230-1A t'—3Y9n"Y(R)ICOMP 1

10 0551-714-310-0  FiuTu¥ar—(A)COMP 1

11 Ve00-150-630-2 RBB 6302DDU 1

12 V705-140-042-0 CI'8MI(FT) 42 2

13 8935-042-028-0 KV AR BYYMIVY 1

14 V211-260-802-0 IH 4K ILMS) M8X20 1

-_.62_



(¥® 2)

g5 B& o —F B & 2 W B & E MR B {E
i 0551-720-250-0 7-LAMyn ' (LICOMP 1
2 0331-250-013-0 AMYn—H22 2
3 V201-700-802-5 ah’4& b M8X25 2 SUS304
4 V411-260-008-0 3h'4%4H'% 8 2
5  V401-160-008-0 SW 8 2
6  1122-725-012-0  UtyMMS8) 2
7 V201-701-002-5 i %k b M10X25 4 SUS304
8  3900-220-011-0  7%%%(11X40X05) 4
9  V411-260-010-0 IH'34"0'% 10 4
10 V401-160-010-0 SW 10 4
11 V341-160-010-0 ah’424nFyp Mi0 4
12 0551-720-260-0 F~AAMA(R)COMP i

._.63_



10. E—4B&

(D 3)

5 ®B&3—F B & B F B#H H & INGE A
1 0551-721-200-3C t'—4%¥"4COMP 1

2  0551-721-011-0 Lt'—% 16

3 V201-461-002-5 JI0°4% I M10X25 32 9T

4  B935-001-062-0 AL¥H'% 64

5  0551-721-012-0 U748+ 9MM10-7T) 32

6  0551-721-013-0  A31L(21X80) 2

7  V600-150-630-7 RBB 6307DDU 2

8 V211-361-002-5 28'4& LMSP) M10X25 8

9  V363-260-010-0 Ih'495n 39% Vb M10 14

10  0551-722-300-0 AH94T7H W U(AYCOMP 1

i1 0551-715-210-1B 1 AZA4ICOMP i

12 0551-715-011-1A Y39¥3°A 1

13 V411-260-008-0 sH'$¥'H'% 8 7

14  V401-160-008-0 SW 8 7

i5  V341~160-008-0 . a0'474R}yh M8 7

16  V201-701-002-5 W&k Ik M10X25 6 SUS304
17 V201-701-002-0 aF%F Wb M10X20 2 SUS304
18 V411-260-010-0 Sh'$4°5'4 10 10

19 V401-160-010-0 SW 10 8

20  V341-160-010-0 2Ih'4740+9} M10 2

._64_.



10. E—45B#&

(ZD 4)

2B & a—F B W A H B NG ELAH
1 0551-723-200-0 Lt'—449n"9F3 COMP 1
2 V201-701-002-0 aH &K L M10X20 4 SUS304
3 V411-260-010-0 Sh'%4°4'% 10 8
4 V401-160-010-0 SW 10 4
5  V341-160-010-0 1h'%740F1Yh M10 4
6  0551-723-210-1B t—4%hn"—COMP i
7  V201-700-801-6 2K &K )b M8X16 11 SUS304
8  V411-260-008-0 Ih'¥¥h'% 8 26
9  V401-160-008-0 SW 8 13
10 V341-160-008-0 ah'4790+9h M3 13
11 V201-700-802~0  I04: b M8X20 2 SUS304

._65_.



10. E—4 P&

13

%/9
"

&—8

g5 #H&mad—Fk B & £ B B# & IMNFEELE
1 0551-723-230-1B t'—491hHn'-COMP 1
2 v201-261-011-5 ah'4&k b M10X115 2
3 V410-260-010-0 I0'%4"h'% 10 4
4  V304-260-010-0 JK'%Fvh 21 M10 4
5  0551-723-012-0 tHuf'—¥¥—} 1
6  0551-723-013-0A EHva’AAYI 1
7 V201-700-802-0 aIh'#k' Wb M8X20 7 SUS304
8  V411-260-008-0 Ih'34'h'# 8 30
9  V401-160-008-0 SW 8 15
10 V341-160-008-0 ah"4740F vk M8 15
i1 0551-723-014-0 b—49I#43Hn'—(L) 1
12 0551-723-015-0 E—491%/+Hn"—(R) 1
13 V201-700-801-6  Jh"4K Ik M8X16 8 SUS304

_66_



10. E—45 Bk

Kl

BNH%a3—F

B & & W

3%

1M 5T B

—l
O W~ D SN =

L el ek el
[, - U L

N et ok —b —
o w o~

NN
LN —=

0551-730-200-0
VB00-150-620-6
V107-140-062-0
0551-730-011-0
0551-730-012-0

3900-220-011-0
V401-160-010-0
0351-110-015-0
0551-730-220-2B
0551-730-013-0

8935-001-011-0
V704-140-020-0
V411-260-016-0
V500-163-002-5
0380-623-021-0

8935-005-026-0
V362-260-008-0
0551-730-014-0
0551-730-240-0
0551-730-015-0

0551-730-016-0
0551-730-017-0
V211-360-801-6

79057 -L(XI)COMP

RB.B

ATy WLy (FT)
7°-1(C-112.5)
£—-(08X07X20)

7Y% (11X40X05)
SW

AYyah 4k LA 0X30
TUoav7—A(1)COMP

792(16X18X25)

TULIuT-Y

CH MY
e
Yy

A7YL5 (HEGS)

AT AYIVIN
IWEFINEIET I

A7 A LMSCE6HPA)
h9,57—-L(FH)COMP

TuN9T-hyTovY

$—(08X07X15)
7°—1(C—-135)
AR 4K VMSP)

6206DDU
62

10

TPCT5T
20

16
3X25

11 M8

MBXi6

._.67_.

—t mmh =1 b =l —_— et N NN —_ =t N G —

— ot ot WD b

—



g8 & a3—F B &% ¥ & INFERUR
1 0551-730-250-1A H9v47—-L(HYMCOMP 1.
2  V600-150-620-6 RBB 6206DDU 1
3 V707-140-062-0 A+vy7Uyy'(FH) 62 2
4 0551-730-016-0 *—(08X07X15) 1
5  0551-730-018-0 7°-1{C-118} 1
8  3900-220-011-0  79i%(11X40X05) 2
7  V401-160-010-0 SW i0 2
8  0351-110-015-0  AYHaA 4K LM 0X30 2
9  0551-730-260-1A Tu¥av7—L(2)COMP 1
10  0551-730-013-0 7'¥a(16X18X25) 1
11 8935-001-011-0  F»33v7°-) TPC75T 1
12 V704-140-020-0 CH4MTI(/ D) 20 1
13 V411-260-016-0 IH'¥4h'% 6 1
14 V500-163-002-5 Yt 3X25 1
15  0380-623-021-0 A7YU%'(HE66) i
16 3728-552-008-0 FU¥AVEXH'% 1
17 V362-260-008-0 IH 4452V FYb 1%1 M8 2
18 0551-730-019-0 214N LMSC46HP4) i
19 V600-150-630-5 RBB 6305DDU 2
20  0551-730-021-0 7°—!)(C-150) 1
21  0551-730-270-0 #9U47—-LAN—(II)COMP i
22 V211-360-801-6 Ih"4& WHSP) M8X16 10
23 0551-730-280-0  HOU47—-Lhn—-(9YR)COMP 1

._68_



5 #HHEo—F B & A ¥ B & INSEER
1 0551-731-011-0  Z7°RFyM50X12) 1
2  0551-730-012-0  %—(08X07X20) 1
3 3900-220-011-0  799%(11X40X05) 1
4 VAQ1-160-010-0 SW 10 1
5 0351-110-015-0 09434 %K LM OX30 1
6 0551-731-012-0  Fzy50(48) 1
7  05651-731-200-0 A7°O¥vM50X30)COMP 1
8  0437-348-012-0 HwANFHAY I 1
9  VA401-160-016-0 SW 16 1
10 V330-260-016-0 FYHMEKYA) M16X1.5 1
11 0551-731-210-0 YN T7FIvTyYavCOMP 1
12 3731-551-008-0 *Y-A¥1#'#'% 1
13 V211-260-802-0 I5'4F ILMS) M8X20 i
14 0551-731-220~0 ¥ VYHF1vhn'—COMP 1
15 V211-360-801-6 Ih "%k WLMSP) M8X16 4

_69....



10. E—42 &%

(0 9)

._70...

e &S oO-—F ) EH H 2+ INFEELE
1 0551-732-200-0A A7 IFyM50X15)COMP 1
2 0380-510-013-0 *—{07X07X25) 1
3 3900-220-011-0  794%(11X40X05) 1
4  V401-160-010-0 SW 10 1
5 0351-110-015-0  OYH2a#'4:E LM 0X30 1
6  0551-732-011-0  FIY50(237) 1
7  0551-732-210-3C t—4%h"H 3" 9COMP 1
8 0661-171-011-0  A4IL(52X15) 2
9  V600-150-620-5 RB.B 6205DDU 2
10 V201-700-802—0 Ih"4&'Ibb M8X20 3 SUS304
i1 V411-260-008-0 SH' %4 4°% 8 7
12 V401-160-008-0 SW 8 7
13 V362-260-008-0 Ih'§¥7n'29%FYh 11 M8 6
14 0551-732-400-0 H$4FH904A"=A(AJCOMP 1
15  V201-700-801-6 h'4F v M8X16 4 SUS304
16  0551-732-230-0 t'—4F1UTUvaxI1)COMP i
17 0661-410-011-0  7°Y1(20X23X20) 2
18 V211-261-002-5 Ih'4&K WMS) M10X25 2
19 0551-732-440-0 Fro4&/L"VCOMP 1
20  3901-615-011-0  A7YLH'(HE175) 1
21  0551-732-240-0 t—4FruTuvau(y2COMP 1



(£D10)

5 ®H&a-—F H &AW ® B = INFEEL
1 0551-732-420—1A A{UFIVIrW COMP 1

2  0551-732-016-0 F¥avy'y 2

3 0551-732-310-0 &Y% 7°L—-hCOMP 2

4  0551-732-017-0 A7'09M50X13)40 2

5  V600-150-620-3 RB.B 6203DDU 4

6  V705-140-040-0  ChH'4bAn(7+) 40 2

7 V704-140-017-0 ChH"aha(s'h) 17 2

8  V201-700-802-5 2h 4K b M8X25 6 SUS304
9  V401-160-008-0 SW 8 8

10 V362-260-008-0 IH 443 R9E+9h 1921 M8 6

11 3782-131-014-0 ©-4"9Yyu7 6

12 0551-732-430-0 H#'{F7-LCOMP 1

13 0551-732-410-1A Fzv#'{}EYCOMP 2

14  V201-460-802-0 3#°4&K b M8X20 2 9T

15 V411-260-008-0 SH'44H'% 8 4

16  V300-460-008-0 FYh M8 2 7T

._.71_



5 #&o—F B & % ¥} = INTREE
1 0551-732-260-1A A7°04yM50X21)COMP 1

2 0551-732-012-0 %—(10X08X23) 1

3 3900-220-011-0  7Y%(11X40X05) 1

4  V401-160-010-0 SW 10 1

5  0351-110-015-0 R9493h’ &K Lb10X30 i

6  0551-732-013-0  FIY50S(76) 1

7  0551-732-270-0 H#OU4FroTovas(I)COMP 1

8  0661-410-011-0 7°¥1(20X23X20) 2

9  3768-361-029-0 O-%%"Vv-FAYH% 2

10 V211-261-002-5 04 ILMS) M10X25 2

11 3902-240-003-0 A7Y»4'(HEO85) i

12 0551-732-280~0 H7U4F0Tvav(»%)COMP 1

13 0551-732-300-2B H#4{MNF1vhn'—COMP 1

i4  V201-700-801-6  IH'4K b M8X16 8 sUS304
15  V411-260-008-0 IF'$4H'% 8 8

16 V401-160-008-0 SW 8 8

_72._.



11. A F+—R&

(Z£D1)

#E & a-—F B & A % BHHE & + INTEBA
1 0551-733-200-0A At'V#7-LYY(LYCOMP 1
2 V201-700-801-6 i 4F b M8X16 20 SUS304
3 V411-260-008-0 SH'¥#°H'% 8 30
4  V401-160-008-0 SW 8 22
5  V341-160-008-0 2x'4790Fvh M8 7
6  V201-700-802-0 JIh'4K It M8X20 2 SUS304
7  0551-733-011-0 H5—(8X14X15) 1
8  V500-162-501-5 Tty 25X15 1
9  0551-733-220-3C t-44{Fan'—(LYGOMP 1
i0  0551-733-230-0 H{F¥3hn"—(L)COMP 1

—
—_

0551-733-012-1A

FARH9UhN~(L)

_73...



.—74._

11. AP F—BE& (D 2)
e #BH&S& O—F B 5 & W ¥ = = INTEEEIE
1 0551-734-200-2B A7'04vM50X21)RCOMP 1
2  0551-732-012-0 %—(10X08X23) 1
3 3900-220-011-0 7Y¥¥(11X40X05) 1
4  V401-160-010-0 SW 10 i
5  0351-110-015-0 B%4ah 4k LM 0X30 1
8  0551-734-013-0  FI»50(33) i
7 0551=734-300-0 AE U TH9U48Y 5(A)COMP 1
8 0661-171-011-0  A2M{52X15) 1
9  V600-150-620-5 RB.B 6205DDU 2
10 V201-460-801-6  J4"4k Wb M8X16 3 9T
11 V300-460-008-0 FYh M8 3 7T
12 8935-056-025-0  Yu4(20) 3
13 V401-160-008-0 SW 8 1
14 0551-734-310-0 At vF7-LYY A(R)ICOMP 1
i5  V705-140-052-0 CH4MITH) 52 i
16  V201-700-801—6 04K Lb M8X16 6 SUS304
17 V411-260-008-0 3h'345'% 8 14
18 V341-120-008-0 14’4750}k M8 6
19 V201-700-802~0 IH'4F b M8X20 2 SUS304



11. A F—F&

(Z£03)

0551-734-250-0
0551-734-031-0

#4FY5hn"—(R)ICOMP
P h708h=AR)

_75_

5 B& a—F B & A F B % {5 = TR BT
1 0551-734-320~0 ' -444Mhn"—A(R)COMP 1

2 V201-700-801-6 A %f Ik M8X16 15 SUS304

3 V411-260-008-0 304404 8 17

4  VA01-160-008-0 SW 8 15

5  V341-160-008-0 ah'4740%v} M8 2

6

7



11.

A F—&

(D 4)

e B& a-—F B & A W B #H F /NSEH
1 0551-740-000-0 G.BOX(nYTY)ASSY 1
2 0551-740-011-1A G.BOX(nUFUL) 1
3 0551-740-012-0 G.BOX(hWTUR) 1
4  0551-740-013-0A Zaasy 4 (nu7y) 1
5  0551-740-014-0  459F% %—(30) 1
6  0551-740-015-0  479FA7°04yM40X20) 1
7  0551-740-016-0 #59F%'v—(24) 1
8  VB00-110-620~5 RBB 6205 4
9  V744-125-400-8 ZA{NV-N TC25408 2
10 V720-101-900-6 OYYY’ P6 1
11 V200-260-601-0 & b M6X10 1
12 0551-740-200-0B %2939y H(nuFv)COMP 1
i3 V600-110-620-6 RBB 6206 1
14 V744-130-450-8 A4 No—l TC30458 1
15  0551-740-017-0  F1v40S(50) 1

_76_



HE BHa—F B & & W R /N5 B4
16  0551-740-210-0 NYTYYI2COMP 1
17 V720-102-401-2 OYUY P12 1
18 0303-8301-027-0 &-9SP i
19 V682-200-001-0 AF—jik'—l 1
20  V304-260-010-0 3h'4+Yh 291 M10 1
21 V201-261-002-5  am4R Lk M10X25 1
22  0551-740-018-0 nNYTYGBOXAT— 1
23 V401-160-008-0 SW 8 8
24  V201-260-806-5 ah4F b M8X65 8
25  0551-540-011-0  %a921724(FFT7) 1
26  V781-160-000-4 TF4Y9%7°5% PT1/4
27  V704-140-025-0 CI'8MTIEY) 25
28  V211-360-802-0 Ih'4K LMSP) M8X20

_77_.



11. AV F+—BE

(Z£D5)

1

\

\/L/

gE & a-—F & &

N5 B (i

LN =

0551-740-230-0  AYTYFIvAN—(V4)COMP
V211-360-801-6 ah 4& LMSP)
0551-740-240-0  AYFYFIVAN—(DT)COMP

MBXi86

_78_



(£D6)

5 #H&3d—F B & & R 1 JNST R
1 0551-741-000-0 GBOX(F VYASSY 1
2  0551-741-011-1A GBOX(r'»Y9)L 1
3 0551-741-012-0  GBOX(r'vY9R 1
4  V401-160-008-0 SW 8 6
5  V201-260-807-5 2Ah'&k b M8X75 6
6  V720~-101-900-6 OYu%’ P6 i
7 V200-260-601-0 &1L} ' M6X10 1
8  0551-741-200-1B Za9Yasy 55 v COMP 1
9  V600-110-630-2 RBB 6302 3
10 0551-741-210-1B ¥"uY4%’v—-COMP 4
11 V600-110-600-4 RBB 6004 8
12 0551-741-013-0  Joi%(20X27X01) 2
13 V704-140-020-0 CH4MIC D) 20 2
14 0551~741-220-0  Lay)asy s vy9)COMP 1
15  V600-110-600-6 RBB 6006 2
16  V744-130-450-8 #A{AY—N TC30458 i
17 1394-220-012-0 %19174 1
18  V781-160-000-4 TF4IV¥734 PT1/4 1
19 V211-360-802-0 2%'4F LNSP) M8X20 6

_79_



11.

A +—B%

(Z®R7)

HE HRBRO—F B & A T B & = INFEER
1 0551-741-230-0 H'vY9GBOXAT-COMP 1
2  0550-110-012-0A =a%Yyasy 4ay—-7" 1
3 1106-220-014-1A 79¥(15X27%2) 1
4  V721-103-103-6 OUu¥ G35 1
5 0550-150-011-0 BDU-10S-L i
6  0550-150-012-0  F{lhavy 1
7 V411-260-008-0 SH':4H'% 8 4
8  V401-160-008-0 SW 8 4
9  V201-260-805-0 b4k NLb M8X50 2
10 V201-260-812-0 b4k b M8X120 2
11 V211-361-002-0 I# %K LMSP) M10X20 2

._.80_



11. REVF+—F&

5 & 3—F B & A B W # INSEHA
1 0651-742-260-0 AVTYYIHN{7'COMP 1

2 0551-742-011-1A nUTUYIHE ILE i

3 V304-260-010-0  Ih'4F9h 291 M10 1

4 V200-440-603-0 #JLb MBX30 1 9T
5  V411-260-006-0 Ih'¥4#°4'% 6 2

6  V300-260-006-0 Y} M6 3

7 V411-260-008-0 SH 3442 8 3

8  8935-009-013-0 4¥7V93nAT7-t'y 3

9  0551-742-200-0 ¥'v4FuLn'—COMP 1

10 0551-742-012-0  E"»{(10X125) 1

11 Va11-260-010-0 3h'3#'7'% 10 2

12 1305-241-001-0A HKANAVAT-LY 2

13 3536~-107-002-0A =%") 1

14 0551-742-013-0 F'ubon(7’ 1

15 0403-301-011-0  Y¥¥'4E°y 2

16  0551-742-220-0 HST(108)¥'SCOMP 1

17 V200-460-601-6 &bk M6X16 1 9T
18 0329-550-015-0 *—(05X05X30) 1

19 0329-140-012-0 77v-L 1

20  3789-151-006-0 & Y7 2

21 V210-260-601-6 ' ILMS) M6X16 2

._.81_



11. AV F—B&

(ED8)

#E #M&EII—F B OB 2 % B & & INTE B
1 0551-742-260-0 nYFYIO¥N {7 COMP 1
2 0551-742-011-1A nUTUYDHE LE 1
3 V304-260-010-0 Ih'4+9Eh 293 M10 1
4  V200-440-603-0 & Lb M6X30 1 9T
5 V411-260-006-0 Sh'34°4% 6 2
6  V300-260-006-0 F¥h M6 3
7 VA11-260-008-0 SH'34'%'% 8 3
8  8935-009-013-0 M{¥7¥H3IA7-t"y 3
9  0551-742-200-0 *'¥47ULN'—-COMP 1
10  0551-742-012-0 E"¥(10X125) 1
11 V411-260-010-0 Sh'34H'% 10 2
12 1305-241-001-0A HK{AAYAT-E"Y 2
13 3536-107-002-0A =%") 1
14  0551-742-013-0  FUFIN4{T 1
15 0403-301-011-0 %Yty 2
16  0551-742-220-0 HST(10S)Y"JCOMP 1
17  V200-460-801-6 & Ibb M6X16 1 9T
18 0329-550-015-0  *-—(05X05X30) 1
19 0320-140-012-0 J7Y-L 1
20  3789-151-006-0 Hy AYY7 2
21 V210-260-601-6 & ILMS) M6X16 2

_81_



(£®9)

H&a—FK

5 i R A W B & 2+ N K i
1 0551-742-230-0 #v7°'Fa%t{HSTFP-LCOMP 1
2 V580-140-502-0 A7 UYL HW) 5X20 1
3 3536-111-008-0 REFNInJH'2R 1
4  0550-150-014-0 RBYFIVMNATYLT(R) 1
5  V304-260-008-0 1h4+vh 291 M8 1
6  0551-742-014-0 7Y vAMvyMMBX40) 1
7  3900-540-016-0 W 4+YMLMS) 1
8  0550-150-013-0 RAYFIVFATUVH (L) i
9  V411-260-006-0 SH'¥94'% 6 2
10 V300-260-006-0 +9h M6 4
11 0551-742-300-0 H#Y7Fa0E47—-L(AJCOMP 1
12 4173-301-005-0  {U4FraN7'yya 1
13 0551-742-031-0 ¥U7'Fant{bn’- 1
14  0550-650~017-0 #u7"Fautdbn'—7441 1
15 V200-460-602-0 & ILb M6X20 2 9T
16  V401-160-006-0 SW 6 2
17 3902-613-024-0 3¥v7°(4) 1
18  0551-742-032-0 H$U7"Faredh’ 1M 14(A) 1
19 V120-366-001-6 7" FAFAI8Y° MBX16 4
20 V411-260-001-2 SH'&4°0'% 12 i
21 1305-241-001-0A H{AAGAT-L™Y 1

_.82._.



11. RV F+—FEE& (ZD10)

HE B& 3—F B S A F B H & INTEHAR
1 0551-742-016-0 FYF994hn - 1
2 0551-742-017-0 P—3—hn'-— _ 1
3 V211-360-801-6 I 4K ILMSP) M8X16 10

_83...



11. RAEF—EE

(ZD11)

5 B& a-—F B &% £ I B W 2+ INTE B
1 0551-750-240-0 #H%/9A7 0fyMCOMP 1
2  V600-150-600-5 REB.B 6005DDU 2
3 V705-140-047-0 CH4rI(TH 47 1
4  V704-140-025-0 CH 3N 25 3
5  0851-750-250-0  Hh%/0h9v%(LYCOMP 1
6  0551-750-012-0  F—(07X07X42.5) 1
7  0551-750-013-0 9% 'FH(50) 1
8  0551-750-014-1A K ILMM12:KkY4) 5
9  V335-260-012-0 Jh'4F9bhGhyA) 32 MI12X125 5
10 0551-750-015-1A T7¥'vAMoMMi2ky A 5
11 05651-750-016-0  OwiFyMEsIM12EY 4 5
12 0551-750-017-1A K LMedUMI12E94 5
13 0551-750-018-0  F1v50(47) i
14 0551-750-019-0  Fr»50(29) 1
15  0551-750-021-0  F1V50(59) 1
16  0551-750-260-0  HH/9hHU4(RICOMP 1
17 0550-250-014~0  £—(7X7X20) 1
18 0551-750-022-0  F1v50(25) 2

_84_



11. Zl‘f.‘/ﬂ‘—ﬁﬂﬁ (ZM12)

5 WHI-—F B & % % BHE & = JNGE B (G
1 0551-750-270-1A V)4 hn'—COMP 1
2 V201-700-801-6 3h'%K Ak M8X16 3 SUS304
3 V411-260-008-0 Sh'¥4'5'% 8 3
4  VA01-160-008-0 SW 8 3

_85_



11. A F—B& (20 18)
5

5 H&&Ha-—F B & A ¥ B&% & & INGEEL

1 0551-760-200-2B AL’»FA—ACOMP 1

2  V600-150-620-4 RBB 6204DDU 3

3 V705-140-047-0 CHh4r9(TTH) 47 2

4  0551-760-011-0 AL VFINGYY i

5  0551-760-012-1A A'A'LE%(17) 2

6  0450-101-019-0 AN L%- 2

7 V704-140-020-0 CH'3MTC/ H) 20 2

8  3535-107-003-0 Yay'imk 2

9  V201-461-003-0 ah'4# Lk M10X30 4 9T

10 V411-260-010-0 IH&¥H'% 10 8

11 V401-160-010-0 SW 10 4

12 V303-460-010-0 IH 4Fvb M10 8 7T

_86_



11. APV F—BE

5 & a3—F B % £ BH & INTEHA(
1 0551-760-230-1A AL’v}n7°COMP 2

2  V600-150-620-5 RB.B 6205DDU 4

3 V705-140-052-0 Chab79(71) 52 2

4  V201-461-003~0 0%k b M10X30 8 9T

5  VA01-160-010-0 SW 10 8

6  V411-260-010-0 =H'$45'% i0 8

7 V304-260-010-0 K419t 2431 M10 8

8  0551-760-240-0A At"v7 HCOMP 2

9  0551-760-012-1A A~A'A'LEY(T7) 2

10 V704-140-020-0 CHAMTEH) 20 2

11 0450-101-019-0 A'A'JL%— 2

12 0551-760-250-0 ALV HLIGCOMP i

13 0551-760-260~0 AL'VFH(R)COMP 1

14 V201-761-002-0 b4k b M10X20 8 SUS304
15 V411-700-010-0 Ih'%4"4°% 10 8 sSUS304
16 V401-700-010-0 SW 10 8 SUS304

_87_



11.

AEVF—H&

(@ 15)

FE B&Ea3—F B & B W B = = MNFEEAA
1 0551-760-015-1A AL"vF+a3L(1) i
2  0551-760-016-0 AEYF3a ht#x(1) 1
3 V201-700-802-0 Jh"4& 1Lb M8X20 12 SUS304
4  V411-260-008-0 IH'$HH°% 8 32
5  V401-160-008-0 SW 8 16
6 V341-160-008-0 If°4%740F9} M8 16
7 0551-760-017-1A ALV L(2) 2
8 0551~760-018-0 At"vT3 A+HI(2) 2
9  0551-760-019~1A AL™VF3°A(3) 2
0 0551-760-021-0 AEvi3 AFHi(3) 2
11 0551-760-022-1A At vHtuvé—h'{M 1
12 V201-700-801-6 344K b M8X16 4 SUS304

_88_



e I/ —F B & A W A & INGE A

i 0551-761-200-0B AL"vT7—L(LYCOMP 1

2 0551-761-011-0  7"9¥a(60X65X40) 1

3 V706-140-060-0 A+Y2Wu¥(YY) 60 1

4 V211-861-002-56 Ih' %K LHSP)7 M10X25 17T

5 V211-360-802-0 Ii'%ik LMSP) M8X20 4

6  0551-761-220-0A AEVT459F7—ALCOMP 1

7 V411-260-012-0 30°%%0'% 12 1

8  1305-241-001-0A HKANIAVAT-E"Y i

9  0551-761-012-0 T7—-AAMN(CA) 1

10 V201-701-002-5 Jh"%K b M10X25 2 SUS304
i1 3900-220-011-0  793%(11X40X05) 2

12 V362-260-010-0 B 4951 49%Fvhk 12 M10 2

13 0331-250-013-0 AMIN—H22 1

14 V201-700-802-5 Ih'4&' Wb M8X25 1 SUS304
15 V411-260-008-0 SH'%§'h'% 8 1

16  V401-160-008-0 SW 8 1

17 1122-725-012-0  UF9MM8) 1

_89_



(ED17)

FE & a3—F B R A % B¥# & = INFEEA{H
1 0551-762-300-0 AEvF7-LA(R)YCOMP 1
2 0551-762-031-0 7"%a(60X65X60) 1
3 V706-140-060-0 AFY7ULHEH) 60 1
4 V211-360-802-0 Ih 4K ILMSP) M8X20 4
5  0551-761-012-0 T7—LAMN () 1 SUS304
8  V201-701-002-5  Ih'4& ILb M10X25 2 SUS304
7 3900-220-011-0  9Wy%(11X40X05) 2
8  V362-260-010-0 #4453 2959k 1¥2 M10 2
9  0331-250-013-0 RMn'—H22 1
10 V201-700-802-5 aIh'4& b M8X25 1 SUS304
11 V411-260-008-0 Sh'3#'h'% 8 1
12 V401-160-008-0 SW 8 1
i3 1122-725-012-0  UFyMMS8) i
14 0452-210-250-0 =—4'4K'99%3 LCOMP 1
15 V362-260-008-0 17 4%Insuit+vh 1%1 M8 1
16 V341-120-008-0 Ih'3790t9h M8 1

_90_



13. AP F+—B&

(FMD18)

2 & a-—F B R A B & =z PpERE
1 0551-700-200-0  MLHYS94SET 1 2-12 ®9b &R
9 0551-762-032-0  MLIAT Roobis’ 1

3 V680-200-001-0 AF-NE -l 5/16 12

4 0661-550-015-0 A7'RYYbFHISP(2) 5

5 0861-550-019-0 AZBEYYMHISP(1.6) 1

6  0551-762-033-0  MEIA7 Riry9M50X26) 1

7 0551-762-037-0 i LMMEX42-11T) 6

8  V300-460-006-0 Fvi M6 12 7T

9  0551-762-034-0  MLIRZ7 Bi9bRLY 1

10 0663-550-013-0A NI AMLY)E94) 3

11 v401-160-016-0 SW 6 i

12 V330-260-016-0  FYHGEHYA M16X1.5 i

_91_



13. AF¥-—B&

(D 19)

5 B& a-—F B &= A F B%% & = AR i
1 0551-762-330-0  Fr(50XB3)SET 1
2  0551-762-310-0 A7°M¥vM26-16)COMP 1
3  V600-150-600-4 RBB 6004DDU 4
4 V705-140-042-0 ' CH4+A9(FH) 42 2
5  V330-260-016-0 TYkGFEYA) M16X1.5 1
6  V401-160-016-0 SW 16 1
7 V411-260-016-0 IH'¥¥'5'% 16 1
8  0551-762-340-0  Fr(50X57)SET 1
9  0551-762-320-0 A7°0¥yM50X16)COMP 1
10 V704-140-020-0 CH4MIED 20 2
11 0551-762-240-0 AL VFTYY3U(II)COMP 2
12 0551-762-250-0 ALV FTUvau(Y)COMP 2
13 0375-110-025-0  7"9%1(2015) 4
14  3768-361-029-0  O-4%™y—FAH 474 4
15 V211-261-002-5 Ih"%F LMS) M10X25 4
16 8935-005-054-0 Ya-uA7°u¥’
17 0328-622-011-0  439F)4—uSP

..92..



(FMH20)

T 8% a—F B & % T B K & INFEEL i
1 0551-762-012-1B AL"vH459F 1
2 V411-260-012-0 Sh'3¥'%'% 12 1
3 V704-140-012-0 CH'4M7(EH 12 i
4  2703-101-020-0 Y74h7- 2
5  0660-620-015-1B AMINT-L(2) 1
6  1106-250-011-0  #H4IE"(8) 1
7 V411-260-008-0 3H'%4'7'% 8 3
8  8935-009-013-0 I{Y795IAT~T-L"Y 3
9  0551-762-013-0 »—7"WAL'VYT) 1
10  0661-640-220-1 tE95YF7V9COMP 1
11 1394-330-015-0 FIVYLn'-SP i
12 3900-210-016-0A TY¥3vavhy 1
13 8935-042-034-0 Yyhn-h{A{SP i
14  V303-260-008-0 Ih'4+9yh M8 2

...93....



11. A +—BE (20 21)

5 BB ao—F B & B K B#H & o INGEHAH
1 0551-763-200-0 At 'v7—-Lhn—(L)YCOMP 1

2 V201-700-801-6 b4 )Lh M8X16 20 SUS304

3 V411-260-008-0 IN3¥ 0% 8 20

4  V401-160-008-0 SW 8 20

5  0551-763-300-1A AL VF7—Lin—A(R)COMP 1

6  0551-763-011-0  AEYFA—Rhn'- 1

._.94....



12. SAJLEE

2 H&a3—F H & A B # * INSE A
1 0551-910-011-0  439F{N)5~" I 1
2 0551-910-012-0 #39FFNFA°N i
3 0551-910-013-0  YJIP(HST)3AW 1
4  0551-910-014-0 H#F39(Fa01)58°1 i
5  0551-910-015-0 7°L—%5A°) 1
6  0551-910-016—0  Ya(AYYNFA L i
7 0551-910-051-0 #FaR(XVhI)7A LA 1
8 0551-910-057-0 H#¥an(h47U)5~8 WA i
9  0551-910-052-0 FUHUFn'IL(A) 1
10 0551-910-021-0 a7V IHHFIA L 1
11 0551-910-022-0 27YFYALIFAN 1
12 0551-910-053-0  H$Y7E4/958 W(A) 1
13 0551-010-026-0 B4} 439FFadtd5A°0 1
14  0551-910-054—0 A L(RLOYZHH) 1
15  0551-910-055-0  FA" WAL Y ThH/N) 1
16 0551-910-056-0 FARIL—iVT) 1

_95._



12. SR)LEERK

((m2)

5 W% a2—F B & % W BE#H & * NG
1 0438-910-025-0 A M(Fa%4 /%" A%99%) 1
2 0453-910-027-0  FA"MFa4/Mty) 1
3 0453-910-028-0 38" MF438/9330Y) 1
4 0453-810-029-0 S~ NM(H43)/v344) i
5 0116-911-015-0 FAN(r{ay/e4y) 1
6  0453-910-026-0  FIA'WFAa9/h88-) 4
7 0453-910-025-0 A NUr4a8/vv') i
8  0453-910-023-0 A M40/ n9TY) 1
9  0453-910-024-0 A WEA25/109°) 1
10 0329-910-033-0 A Wr439/97Y) 1
11 0116-911-011-0  FANGFL/ 4T 1
12 0453-916-011-0  FALGru/4vByh™Y 1
13 0329-910-032-0 3N MEFFry/7'L—-%) 1
14 0116~911-012-0 &' WEFY/0-3) 1
15 0453-910-021-0 S~ ML(XoY/0h04) 1
16 0438-910-024-0  FA'LGHFY/3397Y) i
17 0453-910-022-0 FA°MIHFv/=4'4) 1
18 FN W0/ hEF) 1

0453-910-019-0

_96_



12. IAVER

H#E & a—F B & A % B # INFEE{E
i 0375-910-018-0 ¥3¥{E{H've-4 1
2 0367-901-003-0 *-A{YF¢-H i
3 0351-910-013-0A Tyt'yv—7% 1
4  0312-910-018-0 TYHuvy ' I—9 1
5  0374-910-015-0 a7YYO¥FIH{7—7 1
6  3535-106-001-0  AUYYTUE V) 2
7  3535-106-002-0 AYVYTUEUI-9% 2

_.9']_



1 2. SRR

(FD4) MSX

5 &K a-—F M R A W B#H & = NG H
1  0551-912-021-0 FY2v—4(MSX1010) 1
2 0551-912-012-0 70VpAMIA7 1
3 0551-912-022-0 A JMSX1010) 2
4  0551-012-023-0 A9FI—%{L) 2
5  0438-912-011-0  F7TYHA{VIMGETI{M) 1
6  0551-912-024-0 A’y+3—-9(S) 1

..98_



(FD1) MSX

BE HWRao—F B &% & W BEH & = /NSEEL{H
1 P103-931-004—0A n99'(9—N) 1
2 0312-940-012-0 ¥'3-7 1
3 V910-550-002-7 D39 FANT(RI) 27 2
4  V920-551-001-2 Y3O¥FANT(I) 10X12 1
5 V920-551-401-7 YIAUTFANTRIN) 14X17 2
6  0551-940-200-0  AnN-97"77LUFCOMP  89218-ZE1 1 YRR
7 0551-940-300-0 IV uMEY 1 IV VE R
8  0551-941-051-0 MEVAMSX) 1
9  0771-960-011-0 7439y %¥H—F 1
10 0771-960-012-0  #&¥3%i3 1

...99._









Eﬁ

S—090422A

G ETE

INLE X FR

fE W E X P

W E XA

066-8555

066-8555

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

100-0973

861-8030

885-1202

FEHm Lt K& 1 0 6 1 F i 2
TEL 0123—26—1123
FAX 0123—26—2412

FE T L E&H: 1 0 6 1 F i 2
TEL 0123—22—-5131
FAX 0123—26—2035
REMEEHFLEHORY 119 1FH#4 4
TEL 0162—82—1932
FAX 0162—82—1696

whLhmm22%d1THE12%FH 4

TEL 0155—37—3080
FAX 0155—37—5187
ZZ A hiZEETIBT2 TH 1 6F2

TEL 0153—72—2624
FAX 0153—73—-2540

ETFRIEETASBEEALFME 1 111E]120%&3
TEL 0198—-46—1311
FAX 0198—45-5999

EHEWETERFTXPEFFMEBA179—1
TEL 022—388—8673
FAX 022—388—8735
wmAREBEB/NMLWmMP2512 —1
TEL 0285—49—-—1500
FAX 0285—49—-—1560

MUWEMWHIERTHE704—-103
TEL 086—243—1147
FAX 086—243—1269

REABERRAT/NHNILE 1 6 3 9 — 1
TEL 096—389—6650
FAX 096—389—6710
EHEMBE TS HEERB 1003 -2

TEL 0986—53—2222
FAX 0986—53—2233



